B 3a*
@ 4q*
B 5q*

@ 2a*



o
I
el
™
o|J

Njo

ol

— 412

6+6 _

X2 % y2 = xhy?
a®xa’=a

p2x2x2 — 8
922x3 _ 96

©® (12)% x) =10 xy3 =3 = y18
@ (a')? x (a®)*

® (b2)3
@ (22)3




=a? x b3T% = a?b°

@ a®x (b3)?

@ (a3)2 % (bS) — a6b3
@ <a2>2 % (a3)2

P2 B2 — A x b = a5 = 420

@ (x3)2 X (y2)3 — x6y6



@ 415
@ 416

@ 41

G 420

D 412



1 _ -
* s T2 = 57% L=k x 9] gh= F5ha?

@ @—g @ -2 ® -1

Wl ot
Wl N



ol
ol
o8
olg
o

ol

=%

@ y+y =

© p -l

@ a®+ab=a

G plo = plo — 1



2 9 ASAEL R

Tt et



8.

(x3)a = x16

D 1

+x 4, a9 F2?

® 2 3 3






10. (Q;H)b

@D =2

16x*

¥

® -1

3 0

A, a+b-c o F2?

@ 1



1. o 49 de 548,08
(—2x2y) x(xy) = AxBy

Be:a=
YENE
Be:c=

47 7






13. 33=A4¢%
g, 92 A2 BEH
EASHH?

@ _ A2
A 2 —A4
B) —A6
@ —A8
@ _Al()



5 109
14. 371 =x< uff, 27 & xof W3l A1 02 Lpepd A2

1 3 ixl’»
@ 3x° @ 9x° ® 27x3 @ §x ® 5



a=211d o, 8°& aof ¥

15.

® 8ad



16. A =31 Ao 27% 2 A of T3t 402 tepfoiat.
SES



